ARBETSBLAD 7 L_Grundvux 4_J

Multiplikation och division
1 a) 65-10= b) 100-34 =
2 a) 23-100= b) 10-125=
3 o 240 _ py 3500 _
0 - 100
800 42000
ba)lr =— 5 Tooo =
5 a) 6-40 = b) 5003 =
6 a) 20-20= b) 40-60 =
1 2
7 a) ﬂ — b) ﬂ —
20 — 50
400 4000
82 = 5 To00 =
9 a) 30-70= b) 80-200 =
10 a) 9-600 = b) 600 -20 =
1 a) 820 b) 22
100 60
2 7
12 ) 3200 _ by 7000 _
400 — 700
13 a) 100-20 = b) 4-900 =
14 a) 60-70 = b) 900-20 =
2
15 ) 4800 _ p) 72000 _
L 100
7000 80000
)t ——— b) Foo0 =
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ARBETSBLAD 7 L Grundvux 4 _J

Multiplikation och division
1 a)650 11 a) 60
b) 3 400 b) 6
2 a)2300 12 a)8
b) 1250 b) 10
3 a)24 13 a)2000
b) 35 b) 3 600
4 a)80 14 a) 4200
b) 42 b) 18 000
5 a)240 15 a) 60
b) 1500 b) 720
6 a) 400 16 a) 100
b) 2 400 b) 20
7 a)8
b) 4
8 a)l0
b) 4
9 a)2100
b) 16 000
10 a) 5400
b) 12 000
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